Trig Derivative Introduction... NAME:

Match the six trig functions on the right with their correct derivative on the left. Do this by paying attention to .

where slope is positive, negative, or 0. If slope is positive, y ‘ will have positive y-values (ABOVE tr?e axis)._ If
slope is negative, y * will have negative y-values (BELOW the axis). If slope is 0, the y * graph will hit the axis
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Find y' by implicit differentiation.
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Use implicit differentiation to find the slope-intercept equation of the tangent line at
the indicated point.

2
1) (y-—x)2+y3=xy+7,at(l,2) 2) %+ﬁ=1m(2,-‘§}
2 y-x\ c’ﬁ}-’\\ -\-3\/1;% =y -rx%(

5 4 Ax
7/‘1',% «Ly -ZX%{ TLxr Sy g"",‘( ——\;’r>(g\§.LL g .
Ay . X
A _ 9y AX
N {2y 227y x) = By 2K oy
= —7, -7 - -\
0\ = éi‘—-—?’——L_/— B o m oo
3% Syl vty 2x TGO R
EACS B - :,:lq:— -
-7 (s (2 D \ \2_ -\
. (ZA D) - LD 3D y—%" qﬁ(% 2)

LT '?‘—;"(X’ ‘Y\ 3

Scanned with CamScanner



Use implicit differentiation to find the slope-intercept equation of the normal line at
the indicated point.
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Eree Response Practice 1 (no calculator)

a Consider the curve given by x? - x’y = 6.
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(a)  Show that & = gx_y__y:_
2xy~x
(b)  Find all points on the curve whose x-coordinate is 1, and write an equation for the
tangent line at each of these points.

(¢) . Find the x-coordinate of each point on the curve where the tangent line is vertical.
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Free Response Practice 2 (no calculator)

Let fbe a function given by f(x)= ln(—ii) ;
x —-—
(@) Whatis the domain of f?
(b)  Write an expression for the general derivative of f{x).
()  Write an equation for the line tangent to f{x) at x = -1.
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